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These questions are for use by Missouri State High School Activities Association members for conference competitions and independent tournaments. The Scholastic Bowl Company of Virginia, using tossups from Virginia High School League competition, writes them. 

There are 36 matches for this use. Each entity (conference or tournament) will be assigned matches for their competition. 

Users of these questions are allowed to distribute the rounds they have been assigned to the competing teams. Sharing these questions with teams not in that competition is not allowed but general discussion of the questions is permitted, as long as answers are not being shared. 
First period: 15 tossups
TOSSUP 1
MATH-Algebra

THIS IS A COMPUTATION QUESTION. You want the value of x in the matrix with top row of x and 3, bottom row of 8 and 6, and determinant of 12. Remembering the determinant equals ad minus bc, which in this case is (x times 6) minus (3 times 8) equals 12, what is the value of x in that matrix?

ANSWER: x equals 6
TOSSUP 2
SOCIAL STUDIES-World history

His son Maghan I did not prove capable. Reigning about 80 years after Sundiata, he brought the architect al-Sahili to his kingdom, and oversaw the building of mosques at Gao and Timbuktu. During his hajj, or pilgrimage to Mecca, he caused a decade of inflation in Egypt. Between 1312 and 1337, who ruled the African empire of Mali? 

ANSWER: Mansa (Kankan) Musa
TOSSUP 3
LITERATURE-Philosophy

He saved Alcibiades’ (al-sih-bee-ah-deez) life at the battle of Potidaea (paw-tee-day-uh). Aristophanes portrays him in The Clouds as teaching men how to get out of debt. Crito criticized him for abandoning the sons he had with his wife, Xanthippe (zan-thih-puh). What Greek philosopher known for his ‘method,’ had his writings collected by Plato?

ANSWER: Socrates (saw-KRAH-teez – give style points for saying “soh-crates”)

TOSSUP 4
LANGUAGE ARTS-Foreign language

What three French words are used in English to refer to the finishing blow or decisive stroke?

ANSWER: coup de grace (koo dih grah)

TOSSUP 5
MISCELLANEOUS-Pop culture

She was a partier through college and after; it wasn't until her mother's Alzheimer’s diagnosis that she decided to go to medical school.  Following a near-death experience in a ferry accident, her rollercoaster relationship with Dr. Shepherd became unstable again. What resident at Seattle Grace Hospital has never had a relationship with Dr. McSteamy?

ANSWER: Meredith Grey
TOSSUP 6
SOCIAL STUDIES-US history

Its legislation was crafted by 14 task forces overseen by Richard Goodwin and Bill Moyers. It was proposed in a speech given at the University of Michigan in 1964. Job Corps, Head Start, Medicare, and Medicaid were part of what group of programs proposed by Lyndon B. Johnson? 

ANSWER: Great Society
TOSSUP 7
SCIENCE-Chemistry

Eduard Buchner won the 1907 Nobel Prize in Chemistry for his discovery of the cell-free type of this process.  In 1857, Louis Pasteur connected this form of anaerobic respiration to yeast.  Name this process that can produce lactic acid but is often associated with the production of alcohol.

ANSWER: fermentation
TOSSUP 8
LITERATURE-US literature

He has written several books, starting with Saving the Queen, featuring the CIA agent Blackford Oakes. He once threatened to ‘sock’ Gore Vidal in the face. He hosted the PBS show Firing Line between 1966 and 1999. What author of God and Man at Yale is also the founder of the conservative magazine National Review? 
ANSWER: William F. Buckley, Jr.

TOSSUP 9
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. In lowest terms, what is 1/5 plus 2/9 plus 1/2?

ANSWER: 83/90
TOSSUP 10
FINE ARTS-Opera

The Prisoner’s Chorus is one of the more notable musical sequences in this opera. It also has four overtures: the fourth is played as the overture today. Supporting characters include the bass Rocco, the soprano Marzelline, and the baritone Don Pizarro. The reunion of Leonore and Florestan is the central plot of what only opera by Beethoven?

ANSWER: Fidelio
TOSSUP 11
SCIENCE-Biology

Alternate names for it include Tobia fever and fiebre manchada.  This disease is caused by the Rickettsia rickettsii bacterium, but has nothing to do with rickets.  Symptoms include nausea, headache, rash, abdominal and joint pain, and fever.  Name this tick-borne disease that is named for a U.S. geological feature.

ANSWER: Rocky Mountain spotted fever
TOSSUP 12
MATH-Algebra

THIS IS A COMPUTATION QUESTION. Solve for x.  22x plus 35 equals 167.

ANSWER: x equals 6
TOSSUP 13
SCIENCE-Physics

It is a scientific principle and not quantifiable.  In general relativity, Albert Einstein redefined it in terms of geodesic deviation.  There is also a rotational form of it.  Name this term described by Newton’s first law of motion that is the resistance to change in state of motion.

ANSWER: inertia
TOSSUP 14
LITERATURE-World literature

A short version of this play appeared in 1604; an expanded version appeared in 1616. The title character and his servant Wagner show an interest in magic. Other characters notice the title character’s interest in acquiring knowledge and worry about his salvation. In what Christopher Marlowe play does the title character sell his soul to the devil? 

ANSWER: The Tragical History of Doctor Faustus (prompt on ‘Faust’)

TOSSUP 15
SOCIAL STUDIES-US history

This battle’s losers did not have their power fully broken until the Battle of the Thames during the War of 1812. After the battle, American troops destroyed Prophetstown, the capital of the Native American confederacy founded by Tecumseh. What battle provided a campaign slogan for William Henry Harrison? 

ANSWER: Battle of Tippecanoe
Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
LITERATURE-US literature

This story appeared in 1930 and was attributed to Watty Piper. Shel Silverstein wrote a parody where the title character overestimates his pulling ability and froze one of his bearings. The title character’s larger friends say, ‘that is too much a pull for me,’ and beg off pulling freight cars up the mountain. What story contains the line, ‘I think I can?’ 

ANSWER: The Little Engine that Could
BONUS 16
LANGUAGE ARTS-Vocabulary

Identify these words that come to us from Greek. 

A.
This word was coined by Louis Pasteur from words meaning ‘life without air.’


ANSWER: anaerobic
B.
This word refers to a musical piece for orchestra and comes from Greek words meaning ‘harmonious sound.’


ANSWER: symphony
C.
This word refers to a bottomless pit, and comes from a Greek word meaning, ‘bottomless.’


ANSWER: abyss 

D.
This word, meaning a feeling of well-being and happiness, comes to us from Greek words meaning ‘to carry well’ or ‘healthy.’ 


ANSWER: euphoria

TOSSUP 17
SCIENCE-Biology

A dislocation of it could injure the axillary nerve or axillary artery.  Muscles that attach to it include the latissimus dorsi, deltoid, and rotator cuff.  This bone articulates with the scapula, ulna, and radius.  Name this arm bone located between the shoulder and elbow that has a funny-sounding name.

ANSWER: humerus
BONUS 17
SOCIAL STUDIES-World history

THIS IS SPARTA! Answer these questions about Sparta.

A.
Who was the Spartan king that led the Greeks at Thermopylae?


ANSWER: Leonidas I

B.
After the Peloponnesian War, Sparta lost the battle of Leuctra to what rival power?


ANSWER: Thebes
C.
The vast majority of Spartans were members of what class of serfs?


ANSWER: helot(s) 

D.
The two Kings of Sparta were figureheads. What five officials, elected annually, held the real power in Sparta?


ANSWER: ephor(s)

TOSSUP 18
FINE ARTS-Visual

He portrayed himself on the left of his Allegory of Prudence. He was court painter to Charles V and Philip II and was caricatured in Jacopo Bassano’s Purification of the Temple as one of the moneylenders. His assistant Palma the Younger finished his last painting, Pietà, after his 1576 death. Who was this long-lived Renaissance painter? 

ANSWER: Titian or Tiziano Vecelli (accept either Tiziano or Vecelli)

BONUS 18
LITERATURE-World literature

Name these German authors from works.

A.
The Tin Drum, Dog Years


ANSWER: Gunter Grass
B.
Buddenbrooks, Death In Venice

ANSWER: Thomas Mann
C.
The Clown, Billiards at Half-Past Nine
ANSWER: Heinrich Boll
D.
Steppenwolf, Siddhartha


ANSWER: Herman Hesse
TOSSUP 19
MATH-Computer science

All computer languages with this word in their name were built by Microsoft for use in their .NET (dot-n-e-t) environment. They include J (blank), A (blank), and C (blank), which are improvements on Java, Ada, and C++ (C plus plus), respectively. What word is represented in the name of the computer language by a number sign?

ANSWER: Sharp 

BONUS 19
MISCELLANEOUS-Pop culture

How well do you know Jim Carrey roles? Given the character name and occupation name the movie.

A. 
Fletcher Reede and a Lawyer


ANSWER: Liar Liar
B. 
Charlie Baileygates and a Police Officer


ANSWER: Me, Myself and Irene
C. 
Walter Sparrow and a Animal Control Officer


ANSWER: The Number 23
D. 
Stanley Ipkiss and Bank Clerk 


ANSWER: The Mask
TOSSUP 20
SOCIAL STUDIES-Economics

If a someone is in a DRIP, he or she acquires more stock with each one of these. Real estate investment trusts typically have fairly high ones. The portion of income not paid as one of these is called ‘retained earnings.’ What are these periodic payments made to stockholders from the profits of the company? 

ANSWER: dividend(s)

BONUS 20
MATH-Algebra

Consider the complex number 7 + 14i. Now:

A.
What is the conjugate of that number?


ANSWER: 7 – 14i
B.
THIS IS A COMPUTATION QUESTION. Multiply that number by the complex number 3 + 2i.

ANSWER: 49 – 28i 
C.
THIS IS A COMPUTATION QUESTION. Divide that number by the complex number 4 – 3i, so that there are no imaginary numbers in the denominator.


ANSWER: (-14 + 77i) / 25
D.
A brief reference to the square roots of negative numbers is made by what 1st century AD mathematician better known for his formula for the area of a triangle?


ANSWER: Hero or Heron
TOSSUP 21
MISCELLANEOUS-Home economics

This art form’s main implement comes in size 00 to 16, or in size B to S. Its Tunisian variety involves working with several yarn loops at once. What art form involves making fabric by pulling yarn with a hook? 


ANSWER: crochet
BONUS 21
SCIENCE-Physics

THIS IS A COMPUTATION QUESTION. Calculate these quantities related to electricity:

A. 
If an electric field gives a 2-coulomb charge an energy of 300 joules, what is the strength of the field, in volts?

ANSWER: 150 volts

B. 
If a 20-volt circuit has a single 10-ohm resistor, and no other elements, what is the current through that resistor, in amperes?

ANSWER: 2 amperes

C. 
If a circuit has 3 18-ohm resistors connected in parallel, they act as a single resistor of how many ohms?

ANSWER: 6 ohms

D. 
If a current of 6 amperes passes through a wire for 2 seconds, how much charge passes through the wire? You must specify the units.

ANSWER: 12 coulombs
TOSSUP 22
LITERATURE-World literature

These poems begin with the ‘Coming’ of the title character and his marriage to the daughter of Leodogran. They end with the ‘passing’ of the title character and his sailing off to Avalon. ‘Pelleas and Ettare,’ ‘Gareth and Lynette,’ ‘The Last Tournament,’ and ‘Guinevere’ are in what cycle of twelve Arthurian poems by Lord Tennyson? 

ANSWER: “Idylls of the King”

BONUS 22
SOCIAL STUDIES-Psychology

Answer these questions about Carl Jung.

A.
Jung exchanged many letters with Bill W., the founder of what organization?


ANSWER: AA or Alcoholics Anonymous
B.
What term did Jung coin to describe the ‘resevoir of the experiences of our species?’ 

ANSWER: collective unconsciousness
C.
What word did Jung coin to describe the prototypes for ideas; examples include the Self, the Shadow, the Hero, the Child, and the Great Mother?

ANSWER: archetype(s)

D.
Some of Jung’s ideas made it into what type indicator names for its two inventors; examples include INTP and ESTJ? 


ANSWER: Myers-Briggs Type Indicator

TOSSUP 23
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. If A = 1, B = 2, etc., through Z = 26, what is the numerical value of G times F times R?

ANSWER: 756
BONUS 23
SCIENCE-Biology

What term beginning with the letter "F" names . . .

A.
The process by which an ovum and a sperm cell join to form a new cell?

ANSWER:
fertilization [accept word forms]

B.
The structure that carries an ovum released by the ovary toward the uterus?

ANSWER:
Fallopian tubes [accept oviduct]

C.
The stage of development that, in humans, begins at about eight weeks after conception?

ANSWER:
fetus or fetal
D.
The structure that surrounds each ovum in the ovary?

ANSWER:
ovarian follicle
TOSSUP 24
SOCIAL STUDIES-World history

He was the namesake of a nation that eventually became Zambia and Zimbabwe. After the Jameson Raid, this founder of the De Beers Mining Company resigned as Prime Minister of the Cape Colony. He sought to build the Cairo to Cape Town railroad. Each year, ninety students study at Oxford as a result of scholarships named for what man?

ANSWER: Cecil Rhodes
BONUS 24
LITERATURE-US literature

Name the following American playwrights from works.

A.
The Odd Couple, Barefoot in the Park
ANSWER: Neil Simon
B.
Fences, Radio Golf



ANSWER: August Wilson
C.
Crimes of the Heart



ANSWER: Beth Henley
D.
‘night, Mother




ANSWER: Marsha Norman
TOSSUP 25
SCIENCE-Environmental science

The name of this biome comes from Native American words meaning, ‘land with both grass and tress.’ It features two seasons, one dry and one rainy. Plants here are specially adapted with long tap roots to store water for long periods of time.  Featuring shrubs and trees like the acacia, what biome is most often associated with the Serengeti Plains?

ANSWER: savannah
BONUS 25
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. Consider a buffet of 7 items. 

A.
If order matters, how many ways are there to pick 3 items?


ANSWER: 210
B.
If order doesn’t matter, how many ways are there to pick 4 items?


ANSWER: 35
C.
Two of the items have botulism. If you select three items, what are the chances, in lowest terms, of avoiding the botulism?


ANSWER: 2/7
D.
In lowest terms, what is the average number of items eaten if ¼ of diners eat 3 items, ½ eat 4 items, 1/8 eat 5 items, and 1/8 eat all 7?


ANSWER: 4¼ or 17/4
HALFTIME
Third period: 15 toss-ups
TOSSUP 26
SCIENCE-Chemistry

The discovery of this type of compound won Robert Curl, Harold Kroto, and Richard Smalley the 1996 Nobel Prize in Chemistry.  Nanotubes are cylindrical ones.  Name this type of carbon allotrope, whose most famous example is C60, that is named after the creator of the geodesic dome, and is roughly spherical in shape.

ANSWER: fullerene or buckyball(s)

TOSSUP 27
LITERATURE-US literature

TWO ANSWERS REQUIRED. They live at Bly, a country estate, and are cared for by Mrs. Grose and an unnamed governess. Their governess thinks they are channeling Miss Jessel and Peter Quint. The girl is age eight; the boy, age ten, is expelled from boarding school and dies at the end. Who are the two children in The Turn of the Screw? 

ANSWER: Miles and Flora
TOSSUP 28
SOCIAL STUDIES-World history

Its English translation concludes with a command: ‘This decree shall be inscribed on a stela (STEE-luh) of hard stone in sacred and native and Greek characters.’ It was made around 196 BC and contained decrees from Ptolemy III, IV, and V. In 1799, French troops discovered what object that helped scholars decipher hieroglyphics? 

ANSWER: Rosetta Stone

TOSSUP 29
MISCELLANEOUS-Classic pop culture

At this movie’s start, Spats Colombo rubbed out seven members from the Chicago North Side chapter. Struggling musicians Joe and Jerry witnessed it and flee to Florida. Tony Curtis and Jack Lemmon starred in this movie with Marilyn Monroe as their love interest. In what 1959 movie do Joe and Jerry, to avoid detection, dress up as women? 

ANSWER: Some Like it Hot
TOSSUP 30
MATH-Geometry

Also known as an arithmetic spiral, it is the locus of points corresponding to the locations, over time, of a point moving away from a fixed point with constant speed along a line which rotates with constant angular velocity.  Name this spiral named after a third century BC Greek mathematician.

ANSWER: Archimedes’ spiral or Archimedean spiral
TOSSUP 31
SCIENCE-Geology

Examples of its fossils can be found in the Maotianshan Shale and the Burgess Shale.  It took place from around 542 million years ago to about 488 million years ago, and is named for a Welsh mountain range.  An ‘explosion’ where complex animals appeared occurred at the start of what earliest period of the Paleozoic era?

ANSWER: Cambrian
TOSSUP 32
LITERATURE-World literature

The king in this story thinks: ‘She’s only a miller’s daughter … but I couldn’t find a richer wife.’ Three gifts are given in this 1857 story: a necklace, a ring, and a firstborn child; in exchange, straw is spun into gold. In what Grimm fairy tale does the miller’s daughter keep her firstborn by guessing the title character’s name? 

ANSWER: “Rumpelstiltskin”

TOSSUP 33
MATH-Arithmetic 

THIS IS A COMPUTATION QUESTION. What number fills in the pattern 2, 5, 15, 18, blank, 57, and 171, given that the pattern is alternating plus 3 and times 3?

ANSWER: 54
TOSSUP 34
SOCIAL STUDIES-Geography

This city is located on Naragansett Bay at the mouth of a river with the same name. It is nearly tied with Worcester, Massachusetts, as the second-most populous city in New England. Its metro area includes nearby Fall River. What city, home to Brown University, is the largest city and capital of Rhode Island? 

ANSWER: Providence, Rhode Island

TOSSUP 35
SCIENCE-Biology

Subsets of them include gamma/delta, cytotoxic, regulatory, natural killer, memory, and helper.  They play a central role in cell-mediated immunity and have a namesake receptor on their cell surface.  Name this type of white blood cell that primarily develops in the thymus and is named after that organ.

ANSWER: T cell (prompt on ‘white blood cell(s)’)

TOSSUP 36
FINE ARTS-Classical music

His orchestral works include Capriccio espagnol (eh-span-yohl) and The Great Russian Easter Festival and he criticized monarchy in his The Golden Cockerel. He wrote the operas The Snow Maiden and The Tale of Tsar Saltan. What member of ‘The Five’ wrote the orchestral interlude, “The Flight of the Bumblebee”? 

ANSWER: Nikolay Rimsky-Korsakov
TOSSUP 37
MATH-Algebra

THIS IS A COMPUTATION QUESTION. What is the sum of the numbers from 1 to 30, given that the formula for the sum of numbers from 1 to n is ((n)(n+1))/2 (read as: n times n plus 1 all divided by 2)? 

ANSWER: 465
TOSSUP 38
LITERATURE-US literature

In this novel, civil servants, all of whom are in their mid-sixties and have 14-year-old adopted sons, are killed. Barry Koehler gets wind of the plot, but is murdered. Rabbi Gorin insists that the sons also be killed, but Yakov Lieberman flushes the list of names down the toilet. In what Ira Levin novel does Josef Mengele make Hitler clones? 

ANSWER: The Boys From Brazil

TOSSUP 39
SOCIAL STUDIES-US history

It was built on the same site as Fort Prince George. Edward Braddock and George Washington both led failed expeditions against it. In November 1758, John Forbes forced its French defenders to flee. Between 1754 and 1758, it existed at the junction of the Allegheny and Monongahela Rivers. What French fort was then replaced by Fort Pitt? 

ANSWER: Fort Duquesne
TOSSUP 40
LANGUAGE ARTS-Grammar

Its modern origin is in a 13th century mark called a virgula suspensiva (veer-goo-luh soo-spen-see-vuh), but it gets its name from a Greek word meaning “a short phrase.” Resumptive modifiers, asides, appositives, and other clauses that interrupt a sentence are separated using what punctuation mark that also separates items on a list?

ANSWER: comma
Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
LANGUAGE ARTS-Vocabulary

It is the name of a mutual fund based in Dallas, Texas, that invests in gambling, weapons, alcohol, and tobacco stocks. It is a bad trait that the Catholic Church believes leads one to sin. What word, the opposite of virtue, is a prefix from Latin meaning “in the place of,” most notably seen before ‘President’? 

ANSWER: vice
BONUS 41
SOCIAL STUDIES-US history

Answer these questions about the Clinton presidency.

A.
Randy Weaver was acquitted of weapons charges in the aftermath of what violent standoff against federal agents in Idaho?


ANSWER: Ruby Ridge
B.
Who led the Branch Davidians during their siege in Waco, Texas?


ANSWER: David Koresh or Vernon Wayne Howell
C.
What scandal was named for the Development Corporation that bought land in the Ozark Mountains?



ANSWER: Whitewater (accept Whitewatergate and other answers that contain Whitewater)

D.
What Cuban child was returned to his father in Cuba in 2000?


ANSWER: Elián González
TOSSUP 42
SCIENCE-Famous scientists

He theorized that electrons could lose energy by emitting a photon in his atomic model that improved on the plum-pudding and Rutherford models. In the fall of 1941, what physicist met with Werner Heisenberg at his home in occupied Copenhagen?

ANSWER: Niels Bohr
BONUS 42
MATH-Geometry

THIS IS A COMPUTATION QUESTION. Find the requested measurements of the following figures.

A.
The diameter of a circle whose area is 484PI square inches.

ANSWER: 44 inches
B.
The dimensions of a rectangle whose area is 192 square inches, where one side is four inches longer than the other. 

ANSWER: 12 inches by 16 inches
C.
The surface area of a sphere with a diameter of 6 inches.


ANSWER: 36PI square inches
D.
The bases of a trapezoid, where one base is 6 inches longer than the other, the height is 6 inches, and the area is 60 square inches. 


ANSWER: 13 inches and 7 inches
TOSSUP 43
SOCIAL STUDIES-US history 

Its original incarnation was founded by Nathan Bedford Forrest but Forrest disbanded it, and its remnants were arrested during Reconstruction. What group was re-founded in 1915 at Stone Mountain, Georgia, and by 1924 had 6 million members, nearly all of whom were White?

ANSWER: Ku Klux Klan or KKK (prompt on ‘Klan’)

BONUS 43
LITERATURE-RMP
Answer these questions about Jewish practices.

A.
What is the head covering worn by Jewish men during services at synagogue?


ANSWER: kippah or yarmulke
B.
What instrument, often made from a ram’s horn, is associated with Rosh Hashanah and Yom Kippur?


ANSWER: shofar
C.
Women can study Torah at a midrasha while men study Torah at what educational institutions? 


ANSWER: yeshiva
D.
Food that is permissible under Jewish law is given what label, also called ‘kosher’?


ANSWER: kashrut
TOSSUP 44
SCIENCE-Chemistry

A Gooch one has small holes in the bottom.  Platinum was once used to make them; now nickel, zirconium, graphite, or porcelain is used.  Name this cup-shaped piece of equipment used for holding chemicals during heating that shares its name with an Arthur Miller play.

ANSWER: crucible
BONUS 44
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. Consider the number 1,369. Now:

A.
What is the remainder when this number is divided by twelve?


ANSWER: one
B.
How many digits long is this number in binary notation?


ANSWER: 10 digits
C.
What is this number in Roman numerals?


ANSWER: MCCCLXIX
D.
What is the positive square root of this number?


ANSWER: 37
TOSSUP 45
SOCIAL STUDIES-Geography

Its name derives from a Tswana word meaning ‘great thirst.’ The Okavango River is the only permanent body of water. The San people have lived here for some 20,000 years. It is the setting of Animal Planet’s Meerkat Manor. Portions of Botswana, Namibia, and South Africa make up what desert? 

ANSWER: Kalahari Desert 

BONUS 45
MISCELLANEOUS-Current events

In 2007, a city in the Middle East has been in the news for a lot of good reasons. Answer the following about that city.

A.
What is the largest city in the United Arab Emirates?


ANSWER: Dubai
B. 
This leader of Dubai made the largest single charity donation for an educational foundation in the Middle East.


ANSWER: Sheikh Mohammed bin Rashid al-Maktoum

C. 
This building, still under contuction, became the largest man made building in the world in 2007.


ANSWER: Burj Dubai
D. 
These 3 Islands are set to be the 3 largest man made islands in the world the first of which was completed in 2007.


ANSWER: The Palm Islands

TOSSUP 46
LITERATURE-Religion

This ritual concludes with a Salve (sal-vay) Regina (ray-ghee-nah). Some believers include a Fatima Prayer. A Gloria Patri is said before each of it five themes for the day, after which a Pater Noster and ten Ave Marias are said. Twenty aspects of Jesus’ life, called Mysteries, are mentioned in what prayer ritual of the Roman Catholic Church?

ANSWER: the Rosary
BONUS 46
SCIENCE-Biology

The phylum name comes from the Latin for "little ring."

A.
Name this phylum of segmented worms.

ANSWER:
annelids [AN-uh-lids] or Annelida
B.
These internal walls separate the segments in an annelid.

ANSWER:
septa [SEP-tuh] or septum
C.
Annelids exhibit the "simultaneous" form of what phenomenon, in which an organism possesses both male and female sexual organs?

ANSWER:
hermaphroditism [hur-MAF-ruh-DYE-tism]

D.
Annelids, like humans, possess this type of circulatory system in which blood travels through a system of vessels.

ANSWER:
closed circulatory system

TOSSUP 47
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. What is the value of four factorial?

ANSWER: 24
BONUS 47
SOCIAL STUDIES-World history

Answer these questions about India’s 20th century history.

A.
India has fought four wars with what other country?



ANSWER: Pakistan
B.
Who was the first Prime Minister of India?


ANSWER: Pandit Jawaharlal Nehru
C.
Nehru was a part of what political party that has ruled India for much of its independent history?


ANSWER: Indian National Congress-I or INC
D.
Who was Mahatma Gandhi’s assassin?


ANSWER: Nathuram Godse
TOSSUP 48
LITERATURE-World literature

By book’s end, Fritz leaves with fellow survivor Jenny. The title group initially made mistakes: they didn’t collect enough salt and they built their tree house in the wrong place. Anacondas, ostriches, and kangaroos somehow co-exist on an Indonesian island. What book by Johann Wyss (wees) is about stranded Alpine relatives? 

ANSWER: Swiss Family Robinson
BONUS 48
SCIENCE-Chemistry

Which metallic element is found . . .

A.
In the low-boiling Wood's metal and an eponymous treatment for gastrointestinal relief?

ANSWER:
bismuth
B.
In unusually high concentrations at the K-T boundary?

ANSWER:
iridium [ih-RID-ee-um]

C.
In old glow-in-the-dark watches, and in some anti-tumor treatments? It was discovered by Marie Curie.

ANSWER:
radium [RAY-dee-um]

D.
By definition, in all amalgams?

ANSWER:
mercury
TOSSUP 49
MATH-Algebra

What is the conjugate of 30 plus 23i?

ANSWER: 30 minus 23i
BONUS 49
FINE ARTS-Musical notation

Answer these questions about musical notation. 

A.
Represented by a circle with a plus sign drawn through it, what piece of music brings a movement or other passage to a close? 


ANSWER: coda
B.
A black rectangle hanging off the bottom of a staff line represents what?


ANSWER: whole rest (prompt on ‘rest’)

C.
What music notation, popular in the South, uses triangles, squares, circles, diamonds and other polygons to represent different note pitches?


ANSWER: shape note (accept character, patent, buckwheat, or dunce notes)

D.
A piece of music in common time will have what two numbers appear in the time signature? 


ANSWER: four and four (prompt on ‘four’ but accept two fours and equivalents)

TOSSUP 50
MISCELLANEOUS-Current events 

He starred in a Davis Guggenheim movie that won a 2007 Oscar. That film was based on his non-fiction bestseller with the same name. He won, along with the UN Intergovernmental Panel on Climate Change, the 2007 Nobel Peace Prize. Who is this former Tennessee Senator and Vice-President?

ANSWER: Albert Gore, Jr.

BONUS 50
LITERATURE-US literature

Answer the following questions about an American author and his short stories.

A.
William Sidney Porter was the birth name of what 19th century American author?

ANSWER: O. Henry

B.
Jim and Della Young learn to treasure their love for each other over material possessions in what O. Henry short story?

ANSWER: The Gift of the Magi

C.
Two kidnappers pay a boy’s father to take him back in what short story?

ANSWER: The Ransom of Red Chief

D.
A hobo named Soapy attempts to get arrested to he can spend the winter out of the New York City cold in what short story?

ANSWER: The Cop and the Anthem

END OF MATCH

Spare questions
TOSSUP 51
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. How many yards are in a half-mile?

ANSWER: 880 yards

BONUS 51
LANGUAGE ARTS-Grammar

Consider the sentence ‘I gave Tommy the green ball from my hand.’ Now:

A.
All or nothing: Marking which is which, what are the direct and indirect objects?


ANSWER: Tommy is indirect and ball is direct (either order is acceptable)

B.
Restate that sentence in the present perfect tense.


ANSWER: I have given Tommy the green ball from my hand
C.
Counting determiners as adjectives, how many adjectives are in that sentence?


ANSWER: three (the, blue, my)

D.
In terms of clause structure, what type of sentence is that sentence?


ANSWER: simple
TOSSUP 52
SOCIAL STUDIES-World history

The most recent of these held in the United States was Knoxville in 1982 and New Orleans in 1984. The first one of these in the United States was Philadelphia in 1876. In 1893, one was in Chicago. The Olympics of 1904 were held to coincide with the one in St. Louis. In 1939, New York City held what public cultural exhibition? 

ANSWER: World Fair(s) or World’s Fair(s) (accept Expo or Exposition in place of Fair, and prompt on ‘Fair’ or ‘Expo’ by itself)

BONUS 52
SCIENCE-Geology

Answer these questions about earthquakes:

A.
Most, though not all, earthquakes take place at what boundaries between tectonic plates?

ANSWER:
faults

B.
One notable exception was an 1812 earthquake centered near which Missouri town?

ANSWER:
New Madrid
C.
What name is given to the point on the Earth's surface above which an earthquake begins?

ANSWER:
epicenter
D.
Worldwide, the majority of earthquakes take place along what belt of seismic and volcanic activity?

ANSWER:
(Pacific) Ring of Fire or circum-Pacific seismic belt

TOSSUP 53
MISCELLANEOUS-Pop culture

It started when Garrison Hearst broke his ankle and missed a season. In its most recent appearance, Shaun Alexander broke his foot. Eddie George injured his toe. Ray Lewis broke his wrist.  Donovan McNabb suffered a hernia. All of these players were victims of what phenomenon, caused by appearing on the cover of an EA Sports video game? 

ANSWER: The Madden Curse or Madden Cover Jinx (Accept clear-knowledge equivalents, prompt on ‘Madden NFL covers’)

BONUS 53
FINE ARTS-Sculpture 

Identify these sculptors from works. 

A.
Judith and Holofernes and a freestanding bronze statue of David.

ANSWER: Donatello
B.
Who sculpted the Statue of Zeus at Olympia?

ANSWER: Phidias
C.
Gutzon and Lincoln were what father and son that oversaw the carving of Mount Rushmore?

ANSWER: Lincoln Borglum
D.
What recently-deceased American sculpted the Three Soldiers statue at the Vietnam Veterans Memorial? 

ANSWER: Frederick Hart
TOSSUP 54
LITERATURE-World literature

By 1970, this literary character had purged the other leaders of the Revolution and assumed total power. His date of birth is uncertain, and he will never die, according to both Goldstein’s book and Inner Party member O’Brien. What character in 1984 is the leader of Oceania and is always ‘watching you?’ 

ANSWER: Big Brother
BONUS 54
MATH-Arithmetic

Consider the sequence whose first four terms are 1, 1/3, 1/9, and 1/27. Now:

A.
What number do you multiply a term by to get the next term?


ANSWER: 1/3
B.
What is the seventh term in this sequence?


ANSWER: 1/729
C.
What Greek letter is used to symbolize the sum of a series?


ANSWER: sigma
D.
What is the sum of this infinite sequence?


ANSWER: 3/2
TOSSUP 55
SCIENCE-Biology

Consisting of 298 species in the order Teuthida, this animal has three hearts, an ink sac, a stomach and caecum, gills, the largest eyes in the animal kingdom, two tentacles, and, like an octopus, eight arms.  Name this marine cephalopod that is often served as calamari.

ANSWER: squid
BONUS 55
SOCIAL STUDIES-US history

Answer these questions about crimes of the 1920s.
A.
‘Machine Gun’ McGurn orchestrated what 1929 Chicago killing? 


ANSWER: St. Valentine’s Day Massacre
B.
What G-Man was the head of the Untouchables?


ANSWER: Eliot Ness
C.
All or nothing: Clarence Darrow was able to commute the death sentences of what two murderers of Bobby Franks?


ANSWER: Nathan Leopold and Richard Loeb
D.
Who was executed for the kidnapping and murder of Charles Lindberg, Jr.?


ANSWER: Bruno Hauptmann
TOSSUP 56
FINE ARTS-Classic cinema

The younger appeared in Hearts of the World and appeared in Remodeling Her Husband under her sister’s direction, but retired from cinema and returned to the stage after Wolves. The older starred in 1987’s The Whales of August with Bette Davis and 1915’s The Birth of a Nation. What was the last name of sisters Dorothy and Lillian? 

ANSWER: Gish sisters

BONUS 56
LITERATURE-World literature

Name these Henry James works from clues.

A.
In this 1903 novel, Lambert Strether meets an American woman named Maria Gostrey in London.

ANSWER: The Ambassadors

B.
In this 1877  novel, Christopher Newman is looking for an escape from the cutthroat world of business in his native country.

ANSWER: The American

C.
Isabel Archer is the protagonist referred to in the title of this 1881 James novel.

ANSWER: The Portrait of a Lady

D.
Basil Ransom visits his cousin Oliver Chancellor in a Northeastern American city in this 1886 novel.

ANSWER: The Bostonians

TOSSUP 57
LANGUAGE ARTS-Vocabulary

“Rolling” these refers to trading favors, a “jam” of these refers to a crowded situation, and a “bump on” one of these is a reference to something dull or lifeless. What is the word?

ANSWER: log(s)

BONUS 57
MISCELLANEOUS-Classic pop culture

Identify these baseball players.

A.
The Splendid Splinter was the nickname of what baseball player that hit 521 home runs for the Boston Red Sox?


ANSWER: Ted Williams
B.
The Big Train was the nickname of what Washington Senators pitcher that struck out 3,509 batters?


ANSWER: Walter Johnson
C.
He died while flying assistance to Nicaraguan earthquake victims and had exactly 3,000 hits.


ANSWER: Roberto Clemente
D.
In 1934, he refused to play baseball on Yom Kippur. He also hit 58 home runs in 1938. 


ANSWER: Hank Greenberg
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